02732225158 9 H5

2015 &9 B 2 H (K)

7015 & 9 H 30 H (K)

R A WARUY
FIZNHIIR: PARX2
HDCPLFR: (%) 57.6 (X&) 57.6

NEAZ R EE ouT IN HDCP | NET J[[=Ziva i EL ouT IN HDCP | NET NEARZ R EL ouT IN GROSS | HDCP | NET
2 B WA &= 40 37 8.4 68.6| A 61 AR & 47 47 21.6| 72.4 12147 [l —5Bk 43 45 88| 14.4| 73.6
EER BEIR A8 45 43 19.2| 68.8| A 62 |HERE BSE 43 45 15.6| 72.4 12247 [ILE X 45 42 87| 13.2| 73.8
3L AN HBAE 40 41 12.0] 69.0| A 63 A FEX 48 51 26.4| 72.6 12341 | KB & 43 50 93| 19.2| 73.8
441 |50 FHES 45 45 20.4| 69.6| A 641 |BFH FEX 46 47 20.4| 72.6 12441 [AH FX 39 42 81| 7.2| 73.8
5 [ XA E&F 44 45 19.2] 69.8| A 65 | KB I 48 51 26.4| 72.6 12547 |JRH Hs5h 44 37 81| 7.2| 73.8
6l |=HE E— 40 42 12.0/ 70.0| A 66ML | KASR =EH 44 43 14.4| 72.6 12641 [/J\i& 1asE 44 49 93| 19.2| 73.8
711 |BREH & 41 41 12.0/ 70.0| A 67 |FEH FE 53 46 26.4| 72.6 12741 [P JEF 51 48 99| 25.2| 73.8
8fiI |HEEF SEEA 50 49 28.8| 70.2| A 681 iAK N 44 49 20.4| 72.6 12841 | K& = 41 40 81| 7.2| 73.8
9fir  [Ful #F 48 57 34.8| 70.2| A 691 FEF BET 51 48 26.4| 72.6 12947 AL &BF 49 44 93| 19.2| 73.8
S ES 47 46 22.8| 70.2| A 700 |[{EE 55 48 45 20.4| 72.6 13047 [AffR shz 44 43 87| 13.2| 73.8
1144 |/l ES 45 41 15.6| 70.4 7140 |REB E— 39 41 7.21 72.8 13147 | & fIE§7 46 41 87| 13.2| 73.8
1277 |2 & 50 47 26.4| 70.6 724 AE BE 47 51 25.21 72.8 13241 B &8 44 49 93| 19.2| 73.8
131 [ AF #RE 39 39 7.2 70.8 7347 |HF shIE 41 39 7.2 72.8 13347 [#AH #EBE 39 42 81| 7.2| 73.8
14461 [#48 BEE 44 45 18.0] 71.0 744 |f8H BH 41 45 13.2] 72.8 13447 (AL &— 48 51 99| 25.2| 73.8
1541 B EF 51 44 24.01 71.0 7540 |NH Ez 45 53 25.2|1 72.8 1354 &4 0 45 48 93| 19.2| 73.8
164 |[#REF FOAN 46 43 18.0] 71.0 764 AN #ARE 39 35 1.2| 72.8 13647 |#NH B 39 42 81| 7.2| 73.8
174 LUK 3g— 39 43 10.8| 71.2 7700 |[1EE BT 51 53 31.2| 72.8 13741 (=% BE 48 50 98| 24.0| 74.0
181 |EK ESS 41 41 10.8| 71.2 784 |PAT ERE 42 44 13.2] 72.8 13841 [BEIR H— 38 36 74| 0.0| 74.0
1941 | &E 51 49 28.8| 71.2 794 &% IEA 43 42 12.0] 73.0 13941 BIE ¢ 53 45 98| 24.0| 74.0
20/ |HEF —=5 40 42 10.8| 71.2 804 [FHr EX 46 45 18.0| 73.0 14047 [RE —= 46 46 92| 18.0| 74.0
214 |[H1L BF 48 46 22.8| 71.2 81fu [ILH FEsk 46 45 18.0| 73.0 14141 [Ny FT 47 45 92| 18.0| 74.0
2211 | iR SHE] 44 44 16.8| 71.2 821 |BHA 48 43 18.0| 73.0 142461 |=H =& 44 42 86| 12.0| 74.0
2317 [Z&1l 85h 43 45 16.8| 71.2 83Mi [T B 47 44 18.0| 73.0 14341 |5l —= 44 48 92| 18.0| 74.0
2441 [#hHH EBE 41 41 10.8| 71.2 844 |FRAE BXE 53 44 24.0| 73.0 14440 [ILEZ & 44 48 92| 18.0| 74.0
25f7 |gIH Z|itdh 44 43 15.6| 71.4 85z | Al B 50 47 24.0| 73.0 14541 |T/EH X 58 52| 110| 36.0| 74.0
2641 | AAT #2AKE 36 39 3.6| 71.4 86fi |1l 47 44 18.0| 73.0 1464 [IBG % 45 41 86| 12.0| 74.0
271U |EH ER 50 48 26.4| 71.6 874 |MWH J&iT 50 47 24.0| 73.0 14740 B E7) 40 52 92| 18.0| 74.0
28 |H] = 44 36 8.4/ 71.6 88{iu |AH mEL 43 48 18.0| 73.0 1484 Mk &2 43 49 92| 18.0| 74.0
291 [/ ET] 47 39 14.4| 71.6 89 |EE&R Fh= 45 45 16.8| 73.2 14941 |[RH —1T 45 47 92| 18.0| 74.0
30fi7 [/ =5] 43 49 20.4| 71.6 90 |[R¥F — =5 39 45 10.8]| 73.2 150471 [al8 AZX 44 53 97| 22.8| 74.2| AE
3147 [TEH & 45 47 20.4| 71.6 91 | BH— 44 46 16.8| 73.2 15141 | Ki& —K 43 42 85| 10.8| 74.2
324 | EfZ2 BE 47 45 20.4| 71.6 921 | Ed 47 43 16.8| 73.2 1524y |82 %EF 48 43 91| 16.8| 74.2
33 |[@A R 44 47 19.2| 71.8 93 |EH =B 49 47 22.8| 73.2 1537 &R &S 46 45 91| 16.8| 74.2
3441 |HA FEIT 43 42 13.2| 71.8 9447 |FxX fEah 42 48 16.8| 73.2 15447 [/NEF FOI 50 47 97| 22.8| 74.2
35 [l BRA 43 48 19.2| 71.8 957 |EE[R =ik 52 43 21.6| 73.4 15547 |[RAAR BSE 49 48 97| 22.8| 74.2
3647 [PAIE Sk 45 45 18.0| 72.0 96fi |BH [EE 43 40 9.6| 73.4 15647 |l J¥=] 57 46| 103| 28.8| 74.2
3747 LR # 44 46 18.0| 72.0 977 |FAr —EB 44 51 21.6| 73.4 15741 |hiE =E 45 46 91| 16.8| 74.2
3841 [/NEF FOI 49 47 24.01 72.0 98fiI | K¥F &KX 49 46 21.6| 73.4 15841 [{ElR BRiE 37 35 72| -2.4| 74.4
39M |EH A 48 48 24.01 72.0 99fy |&EK E 42 47 15.6| 73.4 1594y [#HHE &%k 53 55| 108| 33.6| 74.4
401 AR 0= 47 55 30.0] 72.0 1004 | K#& —XK 45 50 21.6] 73.4| A& 1601 |2 2F 54 54| 108| 33.6| 74.4
414U |Fep E— 37 47 12.0| 72.0 10117 | A% BF 38 39 3.6| 73.4 16141 | KB X 45 51 96| 21.6| 74.4
421 |fitt {REB 47 48 22.8| 72.2 102/ [(XIH 8 42 47 15.6| 73.4 16244 [ILH mEX 45 39 84| 9.6| 74.4
43 | Kt5 TE—EB 43 40 10.8]| 72.2 103/ |78 {85 42 47 15.6| 73.4 16317 |AH FX 44 40 84| 9.6| 74.4
444 &K =E 41 42 10.8]| 72.2 1044 N8B i&— 41 42 9.6 73.4 16441 [GF B— 43 41 84| 9.6| 74.4
4541 |FHE Fid 44 45 16.8| 72.2 1054 | KR &+ 41 42 9.6 73.4 16547 |78 &REF 43 41 84| 9.6| 74.4
46 |&HH X— 38 39 4.8 72.2 106/ |E1L 8F 43 40 9.6| 73.4 16641 | KifE LT 58 56| 114| 39.6| 74.4
4710 [T EET 44 39 10.8]| 72.2 1074 (#2100 & 41 42 9.6| 73.4 16741 |&#AK = 43 41 84| 9.6| 74.4
484 | AN FE 41 36 4.8 72.2 108f |[MIA 3k 40 43 9.6| 73.4 1684 |¥EF Esh 46 50 96| 21.6| 74.4
497 |%gith & 49 46 22.8| 72.2 109/ |HR BA 43 40 9.6| 73.4 16911 | KEE AT 50 52| 102| 27.6| 74.4
50 |&&X —% 44 45 16.8| 72.2| AE 110f | B 45 44 15.6| 73.4 I EZET] 49 41 90| 15.6| 74.4
5141 |[¥E BE 54 52 33.6| 72.4 11147 | REF &— 39 43 8.4| 73.6 17140 | RN HFH 43 41 84| 9.6| 74.4
527 |ILH msEx 43 45 15.6| 72.4 11247 |ER 13 47 47 20.4| 73.6 17241 [EEP 1B A 48 48 96| 21.6| 74.4
53 |=E8E Bx 48 46 21.6| 72.4 11347 |{kBE shs=E 38 44 8.4| 73.6 17341 |81l &3] 45 45 90| 15.6| 74.4
5441 R IEE 48 40 15.6| 72.4 11447 | K M= 45 49 20.4| 73.6 17441 |= —EB 41 49 90| 15.6| 74.4
5547 |H4Y 1EHI 46 48 21.6| 72.4 1157 [BFF % 48 40 14.4| 73.6 17541 [BE BAIL 41 43 84| 9.6| 74.4
56 [/I\MK TE8IT 43 39 9.6| 72.4 1164 | Xt& 1E—AB 42 40 8.4| 73.6 17647 [ FLIU —Bk 45 45 90| 15.6| 74.4
5711 |2 NER 52 48 27.6| 72.4 117471 |3 —hk 46 42 14.4| 73.6 17741 |8 £ 155t 46 43 89| 14.4| 74.6
587 |hH FE 40 42 9.6| 72.4 1187 |[7TR HBX 47 47 20.4| 73.6 1784 |HES &— 44 39 83| 8.4| 74.6
594 |&#48 IE 36 40 3.6| 72.4 11947 |(HE BX 46 42 14.4| 73.6 17944 [ILH mEX 44 51 95| 20.4| 74.6
604 |ARAT Ih 47 41 15.6| 72.4 12047 |=@ HE 46 48 20.4| 73.6 1801 |EIR B 41 48 89| 14.4| 74.6
P-1 BEh Y b —EEE




02732225158 9 H5

20155 9 H 2 5 (K) 2015 % 9 H 30 H (UK)

R A WARUY
FIZNHIIR: PARX2
HDCPLFR: (%) 57.6 (X&) 57.6

[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
1811 |KEF — =5 41 42 83| 8.4 74.6 241f1 |[FiE B 36/ 61 97| 21.6| 75.4 30147 [ R#k ZFEXK 52| 43 95| 19.2| 75.8
1821 |ZEF A= 49 46 95| 20.4| 74.6 2424 |EfE Et 53 50| 103| 27.6| 75.4 3021y |HhR Sia 48 47 95| 19.2| 75.8
1831 [/ HEET 47 54| 101| 26.4| 74.6 24317 |FHFH T 43 48 91| 15.6| 75.4 3031 [/\FE Teis 45 56| 101| 25.2| 75.8
1844 [ BS 45 44 89| 14.4| 74.6 24440 |[HEB B— 46 45 91| 15.6| 75.4 3044 |FH BE— 51 44 95| 19.2| 75.8
185fi [fE4K B 51 50/ 101] 26.4| 74.6 2454 |8 i5FE 47 50 97| 21.6| 75.4 3051 |hiEE &ER 46 49 95| 19.2| 75.8
18647 |=#1 —EP 52 49| 101| 26.4| 74.6 2464 |[AF S5 50 53| 103| 27.6| 75.4 3061 |B5Ht Rz 56 51| 107| 31.2| 75.8
187Mi |85K IF= 50 51| 101| 26.4| 74.6 24741 b0 1EX 39, 46| 85| 9.6/ 75.4 30741 | &7 44| 45 89| 13.2| 75.8
188f1 |[#H ERE 42 41 83| 8.4| 74.6 2481 |BH Z:RIE 50 41 91| 15.6| 75.4 3081 |8 HBE 46 54| 100| 24.0| 76.0
1891 |ZH HE 51 44| 95| 20.4| 74.6 24961 | &% EFE 52 51| 103| 27.6] 75.4 30941 805 BE 54 52| 106| 30.0] 76.0
1901 [#ask sk 40| 43 83| 8.4 74.6 250 [O& IEA 45| 46| 91] 15.6] 75.4|AE 3106z |50 FES 42| 40| 82| 6.0 76.0
1911 &8 1E 41 42 83| 8.4 74.6 25167 [KHF =z 50, 47| 97]21.6 75.4 31147 5% BE 51 49| 100| 24.0| 76.0
19241 |JIl.E A 40 43 83| 8.4| 74.6 2521 = B— 55 54| 109| 33.6| 75.4 312U |INE EE 47 47 94| 18.0| 76.0
1931z [{E[ IEER 48 52| 100] 25.2| 74.8 253 |ER F=SS 49| 48| 97| 21.6] 75.4 3137 |FERS fB— 47 53| 100| 24.0] 76.0
1944 -8 SES 49 51| 100] 25.2| 74.8 2541 [EAKR EH 39, 40 79| 3.6| 75.4 31411 [EElR 38 53| 47| 100] 24.0| 76.0
19547 A BRED 47 53| 100| 25.2| 74.8 25541 | #3877 47 50 97| 21.6| 75.4 3157 [ T 41 41 82| 6.0] 76.0
196fi [¥res el 45 43 88| 13.2| 74.8 25641 |HEP #Eiff 57 51| 108| 32.4| 75.6 31641 |[#REF &7 51 49| 100| 24.0] 76.0
19741 |=F AR 47 47 94| 19.2| 74.8 2574 |Hil = 46 44 90| 14.4| 75.6 317{u EH E5R 48 46 94| 18.0| 76.0
1981 |[ILH mEX 46 48 94| 19.2| 74.8 258f1 &Il IEE 52 50| 102| 26.4| 75.6 3184 |F§ Z:ik 42 40 82| 6.0] 76.0
199/ |HEy —=5 42 46 88| 13.2| 74.8 2591 |HEP &— 46 44 90| 14.4| 75.6 31914 |BfA BEE 45 43 88| 12.0] 76.0
2001 |==% EHiT 46 48 94| 19.2| 74.8| AB 26047 [ JefE 50 40 90| 14.4| 75.6 3201 |#8H & 47 47 94| 18.0| 76.0
20141 |FE IEE 45 43 88| 13.2| 74.8 26147 Al 8= 38 40 78| 2.4| 75.6 32147 |[BFH R 43 45 88| 12.0] 76.0
2021 )=H B&T 47 47 94| 19.2| 74.8 2624 [/ BE 53 49| 102| 26.4| 75.6 3224 |[1EiE N 50 44 94| 18.0| 76.0
203f1 e BYE 46 48 94| 19.2| 74.8 2631 |i@E FEX 49 47 96| 20.4| 75.6 323{y |BaiF 5= 54 52| 106| 30.0] 76.0
2044 | AR E 42 46 88| 13.2| 74.8 26441 |VEE FEX 52 50| 102| 26.4| 75.6 32441 [BAA BE 46 54| 100| 24.0/ 76.0
205Mi WX St 39 43 82| 7.2| 74.8 26511 |FBE E— 50 46 96| 20.4| 75.6 325U |EE MIE 47 59| 106| 30.0/ 76.0
206fi1 | KiE B 48 52| 100] 25.2| 74.8 26611 |HiE &HA 47 49 96| 20.4| 75.6 32641 |1TH i 41 41 82| 6.0] 76.0
20741 |[Fn BE 48 46 94| 19.2| 74.8 2671 |=F ZHiT 49 47 96| 20.4| 75.6 32741 [IUF 8 47 53| 100| 24.0| 76.0
208f1 |EMH 1&F 51 49| 100| 25.2] 74.8 26847 [FIEH 23 51 51| 102| 26.4| 75.6 328f1 [E& E 46 42 88| 12.0] 76.0
209M7 |1E/R =FA 49 45 94| 19.2| 74.8 26941 |)I1EY 1B 50 58| 108| 32.4| 75.6 32947 |F9H #H=) 43 45 88| 12.0| 76.0
2104 [k BREZ 47 47 94| 19.2| 74.8 27041 |{ERE IE 50 52| 102| 26.4| 75.6 330Mi7 | KlF B5—EB 54 51| 105| 28.8| 76.2
21147 |=F Bk 46 48 94| 19.2| 74.8 27141 [EEE IE 48 42 90| 14.4| 75.6 I VARES RGES 47 46 93| 16.8| 76.2
2121 [#hk Fth 41 41 82| 7.2| 74.8 27241 [ J¢E] 46 50 96| 20.4| 75.6 33241 AR TEE 48 57| 105| 28.8| 76.2
21347 [BEIR 3h— 40 41 81| 6.0] 75.0 27341 | T8 FH| 49 47 96| 20.4| 75.6 333U |=fh T=FH 52 53| 105| 28.8| 76.2
21441 LA BEXk 45 42 87| 12.0| 75.0 27441 |15 FNER 49 53| 102| 26.4| 75.6 33441 |FE S1T 49 50 99| 22.8| 76.2
2154 | R¥& —X 47 46 93| 18.0| 75.0 2754 |Hf 54 54| 108| 32.4| 75.6 33541 |AAT — 44 43 87| 10.8| 76.2
21641 ALl BEEF 54 51 105| 30.0| 75.0 27641 | B B 53 55| 108| 32.4| 75.6 33641 |ImA BFEH 44 49 93| 16.8| 76.2
21747 [MHE = 55 50| 105| 30.0| 75.0 27741 ¥l feF 45 51 96| 20.4| 75.6 33741 /IR B8 50 49 99| 22.8| 76.2
2181 |FiE BESE 47 46 93| 18.0| 75.0 27801 | AR FEX 52 44 96| 20.4| 75.6 338M1 |k SE 47 40 87| 10.8| 76.2
2191 [P E=E 51 48 99| 24.0| 75.0 27941 [A#nH EEE 40 44 84| 8.4| 75.6 3391 |BElR EiE 59 46| 105| 28.8| 76.2
2201 [&XF A= 52 53] 105| 30.0| 75.0 28011 |&B EK 40 44 84| 8.4| 75.6 34041 |[#hH &E 53 46 99| 22.8| 76.2
22141 |77TH = 43 44 87| 12.0| 75.0 281fu [/\H B 49 53| 102| 26.4| 75.6 34141 |BEH Hka) 48 45 93| 16.8| 76.2
2221 &Il RBFE 50 49 99| 24.0| 75.0 282fu |EE {Ff 40 50 90| 14.4| 75.6 342 |&fA BER 38 43 81| 4.8| 76.2
22301 |AH EF 47 52 99| 24.0| 75.0 2831 AR HSE 48 48 96| 20.4| 75.6 3431 =fE EC 47 52 99| 22.8| 76.2
2244 |A1E EKEB 45 48 93| 18.0| 75.0 284U |ZH E¥ 50 46 96| 20.4| 75.6 34447 |BERE 1B 42 45 87| 10.8| 76.2
22541 | K¥E #kA% 47 46 93| 18.0| 75.0 28541 iEK B 48 47 95| 19.2| 75.8 34541 |=F —EB 44 43 87| 10.8| 76.2
226{i [ARE S 49 55| 104| 28.8| 75.2 2864 [ILA HE 54 53| 107| 31.2| 75.8 346fi |FFH K& 40 47 87| 10.8| 76.2
22740 Bk =& 50 54| 104| 28.8| 75.2 287{u |IUH IE— 44 45 89| 13.2| 75.8 3471 | AH [HE 58 47| 105| 28.8| 76.2
228{i A STA 44 42 86| 10.8| 75.2 28841 |i@iE FEX 52 49| 101| 25.2| 75.8 34841 AR &5 44 48 92| 15.6| 76.4
22941 &K (& 45 47 92| 16.8| 75.2 2891y |BHIR & 41 42 83| 7.2| 75.8 3491 |{kRE 527 49 49 98| 21.6| 76.4
2301 [IUH mEk 46 40 86| 10.8| 75.2 29041 =% ¥ 46 49 95| 19.2| 75.8 3501 |HEP &— 42 44 86| 9.6| 76.4| A=
2314 |BIH |ibh 42 44 86| 10.8| 75.2 29141 [AXL JF 42 41 83| 7.2| 75.8 35141 [{—#l —5 53 51| 104| 27.6| 76.4
23241 LR ZmE 47 45 92| 16.8| 75.2 2927 |=H & 45 44 89| 13.2| 75.8 3527 S5 AiE 54 50| 104| 27.6| 76.4
233{u |1ERE m=E 50 48 98| 22.8| 75.2 29341 [dkd 1EX 45 44 89| 13.2| 75.8 3531 |/=HH 46 46 92| 15.6| 76.4
2344 [EIR 1FF 49 43 92| 16.8| 75.2 29441 | EH rRiE 42 47 89| 13.2| 75.8 35441 |J\K E 50 48 98| 21.6| 76.4
23541 |%H SBA 41 45 86| 10.8| 75.2 295y |#&5 ST 53] 48| 101 25.2] 75.8 355Mi |LUE % 45/ 47| 92| 15.6| 76.4
236fi1 |FLL S5 53 51| 104| 28.8| 75.2 2961 |1RE HEE 45 50/ 95| 19.2| 75.8 356fi |[/I\EF [EX 55| 49| 104 27.6| 76.4
23741 [P EE 46 52| 98] 22.8]| 75.2 29740 [EH E= 51 50| 101| 25.2| 75.8 357{u Bl —= 51 47| 98| 21.6| 76.4
23841 [k FEZ 44 42 86| 10.8| 75.2 29841 [#21L & 42 41 83| 7.2| 75.8 35841 [fEd #i5E 45 53 98| 21.6| 76.4
2391 [=# = 45 41 86| 10.8| 75.2 29941 [YehF BxE 49 52| 101] 25.2| 75.8 3591 S FH—EB 51 53| 104| 27.6| 76.4
2401 [RIH RS 51 47| 98| 22.8] 75.2 30017 |HiIHH #% 47! 48] 95| 19.2] 75.8| AE 3601 | HH FHiE 43 43 86| 9.6| 76.4
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R A WARUY
FIZNHIIR: PARX2
HDCPLFR: (%) 57.6 (X&) 57.6

[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
36141 pal& IEA 47| 45/ 92| 15.6] 76.4 421147 |2l BEZE 48 52| 100| 22.8] 77.2 48141 [fEAKR EX 48| 49| 97 19.2| 77.8
362fi1 [l E HRE] 53] 45| 98 21.6| 76.4 42247 |FLL i 54, 46| 100| 22.8| 77.2 4824 |[HH K= 46 51 97| 19.2| 77.8
363 |=EiE RE 43| 49, 92| 15.6] 76.4 423fu [AllR 5h2 48| 46| 94 16.8| 77.2 4831 [Mh= EX 46 51 97| 19.2| 77.8
36441 iEF T 46 52| 98] 21.6| 76.4 42441 [0 EE 49| 45| 94 16.8| 77.2 4841 | A EH| 46| 45 91| 13.2| 77.8
36541 Rl {18 58 58| 116] 39.6| 76.4 42541 [#2K BT 51 43 94| 16.8| 77.2 4851 |FEE JE—EAR 49| 42| 91 13.2| 77.8
366MiL | ARM FEXK 45| 47, 92| 15.6] 76.4 NS 52 54| 106| 28.8] 77.2 4861 |[MVHE Az 58 51| 109| 31.2] 77.8
36741 |FifE Jtic 48 56| 104| 27.6| 76.4 42747 [#kRHE FBE 48| 46| 94 16.8| 77.2 4871 |=E JERR 44| 47| 91 13.2| 77.8
368fi1 |tk Bl 45 46 91| 14.4| 76.6 42841 [#MiR EKEB 49 45 94| 16.8| 77.2 4881 |[HFy %% 58 51| 109| 31.2| 77.8
36941 |BF IEA 43| 42 85/ 8.4| 76.6 4297 [Jt8 B 53 53| 106| 28.8] 77.2 4891 |gpIH RS 58 51| 109| 31.2] 77.8
37061 |BEK #EH2 46| 39 85/ 8.4| 76.6 4301 [k = 49 51| 100| 22.8] 77.2 4901 |NH &7 45| 46| 91 13.2| 77.8
37141 |PAIER =K 41 50/ 91| 14.4) 76.6 431141 |FE == 44| 44| 88 10.8| 77.2 49114 [AH BRA 48| 49| 97 19.2| 77.8
3721 AEE BEIR 50 53| 103] 26.4| 76.6 4321 |l 2 48| 46| 94 16.8| 77.2 4921 |85 = 41 49| 90| 12.0) 78.0
37361 |FH & 43| 48, 91| 14.4| 76.6 433 &I X 50 50/ 100| 22.8] 77.2 49341 |=F BE 46 50/ 96| 18.0] 78.0
37441 SR X 41 50/ 91| 14.4) 76.6 4344 |#%&FE SoE 57/ 49| 106] 28.8| 77.2 4944 |=H JAEB 46| 44| 90 12.0] 78.0
37541 |BBIR 3E 45 52 97| 20.4| 76.6 4351 [ BE 46 47 93| 15.6| 77.4 49541 [KH BX 56 52| 108| 30.0| 78.0
37641 E 5 46 51 97| 20.4| 76.6 43641 |[HEZ shF 51 54| 105| 27.6| 77.4 49641 [LLIAE $h 44 46 90| 12.0| 78.0
3774 [IUAR FBOX 54 55| 109| 32.4| 76.6 43741 [=H Z=SE 53 46 99| 21.6| 77.4 49741 [ILFEZ & 48 48 96| 18.0| 78.0
378f1 |[ZFF K 47 44 91| 14.4| 76.6 4381 AR Ba 46 47 93| 15.6| 77.4 49847 [FaH FHh— 54 54| 108| 30.0| 78.0
37941 |pkHH RiE 50 41 91| 14.4| 76.6 43941 |EK EF5 44 43 87| 9.6 77.4 49947 |[FE[R FHha) 54 42 96| 18.0| 78.0
380fiL |/NEF 2 51 46 97| 20.4| 76.6 44047 |ILUH FEEEX 45 42 87| 9.6 77.4 5001 |[fRe BE 44 46 90| 12.0] 78.0| A2
381fi1 |&FHk EX 42 49 91| 14.4| 76.6 44141 |35 A FE 50 43 93| 15.6| 77.4 5014y |EEH BSdk 50 46 96| 18.0| 78.0
3821 [lLO S 48 55| 103| 26.4| 76.6 44241 R A#F 51 48 99| 21.6| 77.4 5024 | BE 42 48 90| 12.0| 78.0
383fiL Mk FEZ 48 43 91| 14.4| 76.6 44311 By Ah+— 50 49 99| 21.6| 77.4 5031 |BR 1E7% 51 45 96| 18.0| 78.0
384 |BF lEE] 49 48 97| 20.4| 76.6 44441 VIR SBE 47 46 93| 15.6| 77.4 50447 |JII3E IER 49 53] 102| 24.0| 78.0
3854 |4+ dhEE 51 46 97| 20.4| 76.6 44541 |[FH E& 52 53| 105| 27.6| 77.4 505fi1 |EfE by 45 45 90| 12.0] 78.0
386fi |FxH JFE 45 46 91| 14.4| 76.6 44641 S X 54 51| 105| 27.6| 77.4 506 |=F —BB 42 48 90| 12.0| 78.0
3874 | A B 43 48 91| 14.4| 76.6 44741 IR K 45 42 87| 9.6 77.4 50747 |fall —&B 44 52 96| 18.0| 78.0
388fi |=% B 59 50/ 109| 32.4| 76.6 44841 [AGE ER 49 44 93| 15.6| 77.4 5081 |MEH HHE 45 51 96| 18.0| 78.0
389fi | AH [E— 54 54| 108| 31.2| 76.8 44941 g A 46 47 93| 15.6| 77.4 5091 |[AHE BA 51 63| 114| 36.0| 78.0
3901 | AR ZEF 47 43 90| 13.2| 76.8 45011 [uiE Rt 53 46 99| 21.6| 77.4| A8 5101z |BE 17iE 54 54| 108| 30.0/ 78.0
3914z &% IEA 39 39 78| 1.2| 76.8 45147 |#RE FBER 48 51 99| 21.6| 77.4 51147 |£8& =C 52 61| 113| 34.8| 78.2
3921 [/VMR B 46 50 96| 19.2| 76.8 452 | BR E 55 50| 105| 27.6| 77.4 5124 /M1 NlE— 50 45 95| 16.8| 78.2
393f1 &7 #EE 55 53] 108]| 31.2| 76.8 453fiz |H)Il X 54 51| 105| 27.6| 77.4 5131 [=te E 44 51 95| 16.8| 78.2
39441 Bl TR 50 58| 108| 31.2| 76.8 4544 |=F —7H 49 43 92| 14.4| 77.6 5144y Bt =4 45 50 95| 16.8| 78.2
39547 |[#cAT OEH 54 54| 108| 31.2| 76.8 455 | E 41 45 86| 8.4| 77.6 51541 |NH Za 42 47 89| 10.8| 78.2
3964 |[REF BRAN 44 40 84| 7.2| 76.8 456fu |AEE NS 44 48 92| 14.4| 77.6 516 (R —=5 41 48 89| 10.8| 78.2
3974 &R JE—EB 42 48 90| 13.2| 76.8 45741 B Eih 58 58| 116| 38.4| 77.6 5174 |APY EXE 46 43 89| 10.8| 78.2
3981 |=ts FHAEB 42 42 84| 7.2| 76.8 4581 |#8AK IE 46 46 92| 14.4| 77.6 5187 (&Sl —=5 56 45| 101| 22.8| 78.2
39947 |LUE BER 48 42 90| 13.2| 76.8 45941 |‘EH ¥ 57 59| 116| 38.4| 77.6 51914 |BA AiT 58 43| 101| 22.8| 78.2
40041 |Fx =Iif 46 43 89| 12.0] 77.0| AE 4601 [1lLO B3 46 40 86| 8.4| 77.6 5201u |HIR & 49 52| 101| 22.8| 78.2
401147 [ILH 83X 42 47 89| 12.0| 77.0 461141 FEE IE 54 44 98| 20.4| 77.6 52141 [BRA 51 50| 101] 22.8| 78.2
4021z STO 3k 44 45 89| 12.0| 77.0 46211 |5k IE 46 46 92| 14.4| 77.6 5221 |#R SEA 48 53| 101] 22.8| 78.2
403f1 |FIR A 47 48 95| 18.0| 77.0 46311 | HE 47 57| 104| 26.4| 77.6 523{i |Ei =8 47 54| 101] 22.8| 78.2
40441 |ILMH #FB 49 46 95| 18.0| 77.0 46447 [fh Z=Ed 51 53| 104| 26.4| 77.6 5244 |RK'F HiE 49 52| 101] 22.8| 78.2
4051 |[BKR BX 48 47 95| 18.0| 77.0 465fi1 | KE #HXA 49 49 98| 20.4| 77.6 525fi |#BR ahiT 52 55| 107| 28.8| 78.2
40641 | FBiT 50 51/ 101] 24.0| 77.0 46611 Ml S0 43 43 86| 8.4| 77.6 526fi | & 52 55| 107| 28.8| 78.2
40741 == ¥ 51 44 95| 18.0| 77.0 46761 AN E— 54 50| 104| 26.4| 77.6 52741 |=F —EB 57 44| 101| 22.8| 78.2
40811 |fJH BBF 54 53| 107] 30.0| 77.0 468fiL MK 1817 46 46 92| 14.4| 77.6 528{i |AfE BAE 51 50| 101] 22.8| 78.2
409f1 |fhBE [EIR 43 52 95| 18.0| 77.0 46911 ;1] {HER 44 48 92| 14.4| 77.6 529{i | KjEF BEF] 56 45| 101| 22.8| 78.2
41061 |F£EH BET 54 47| 101| 24.0| 77.0 4701 [HH &S 52 52| 104| 26.4| 77.6 53011 |ZIE HlEER 52 43 95| 16.8| 78.2
41141 IR 18F 47 48 95| 18.0| 77.0 47141 &S FliT 49 48 97| 19.2| 77.8 53147 | EFs IE_EB 44 38 82| 3.6| 78.4
41261 |FE F— 44 51 95| 18.0| 77.0 47261 % 18 45 46 91| 13.2| 77.8 532 KA 1IE& 45 43 88| 9.6| 78.4
41361 [BIR Bt 50 50| 100| 22.8| 77.2 473061 TR B 47 50 97| 19.2| 77.8 53341 |[BA T 51 49| 100| 21.6| 78.4
41441 3=k JERIUER 45 49 94| 16.8| 77.2 47441 |FIR BB 49 54| 103| 25.2| 77.8 5344 |G 42 46 88| 9.6| 78.4
41541 [#EH Z=AEB 55 57| 112| 34.8| 77.2 47541 |[AH FX 43 42 85| 7.2177.8 535 B HEF 48 52| 100| 21.6| 78.4
41641 [BRH ExZ 44 50/ 94| 16.8| 77.2 47641 [ILH Bk 49| 48| 97| 19.2| 77.8 536fi |HIFH A 55 51| 106| 27.6| 78.4
41740 KH =— 47 47 94| 16.8| 77.2 47741 |BIH Z=|tbh 46 51 97| 19.2| 77.8 53741 B #i58 54 52| 106| 27.6| 78.4
4184z LA 12 54 52| 106| 28.8| 77.2 4781 /K BE 47 50/ 97| 19.2| 77.8 538f1 |FEH R 48/ 46| 94| 15.6| 78.4
41961 &K & 51 49| 100| 22.8| 77.2 47911 BH BX 52 51| 103| 25.2| 77.8 539471 [/M\E¥ i 48 46 94| 15.6| 78.4
4201 | FH AX0 53| 47| 100| 22.8| 77.2 4801 [IRH & 48 49| 97| 19.2| 77.8 540141 BN 8 47 53] 100| 21.6| 78.4
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R A WARUY
FIZNHIIR: PARX2
HDCPLFR: (%) 57.6 (X&) 57.6

[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
54141 |[HFE FE 54| 46| 100 21.6| 78.4 601171 B 5 55 54| 109| 30.0] 79.0 66141 |HFE Bf= 52 52| 104| 24.0] 80.0
5424 [BUE ek 47 47 94| 15.6| 78.4 602117 |#587 @A 58 57| 115| 36.0/ 79.0 662 |HIE HX 60 50| 110| 30.0/ 80.0
543f1 |Jolfe] EEE 51 49| 100 21.6| 78.4 603fi | KE 502 52 51| 103| 24.0] 79.0 6631 |EE foF 44| 42| 86/ 6.0] 80.0
54441 |BEE B — 41 47 88/ 9.6 78.4 6041 | KE 502 54 55/ 109| 30.0] 79.0 66441 [BLE A 53 57| 110| 30.0] 80.0
5451 |k sk 45| 43 88/ 9.6 78.4 60517 |ZEMH fith 55 53| 108| 28.8] 79.2 66541 | R 52 52| 104| 24.0] 80.0
5461 |[RF Felf 51 49| 100 21.6| 78.4 606fi |EH {S# 44| 46| 90 10.8] 79.2 66661 [H LIt SiE 53 51| 104| 24.0] 80.0
54761 88K = 58 54| 112| 33.6| 78.4 60741 R == 56/ 46| 102] 22.8| 79.2 66741 /N\EFF IEE 49| 49| 98 18.0] 80.0
548f1 |#nHH #hEd 59 47| 106| 27.6| 78.4 6081, |#&EIll [E— 51 51| 102| 22.8| 79.2 6681 [ —EB 50 54| 104| 24.0| 80.0
54941 |‘FE FE 49 50/ 99| 20.4| 78.6 609f1 |FFIII 1& 51 51| 102| 22.8] 79.2 66947 |17l 51 47| 98| 18.0/ 80.0
550z Al FEA 52 59| 111] 32.4] 78.6| AE 610fz |[#&/Il =EB 50 58 108| 28.8] 79.2 67041 B 1IERE 53 51| 104| 24.0] 80.0
55147 B 1% 47| 40 87, 8.4 78.6 61147 | EF] {h 53| 43 96| 16.8| 79.2 67141 |HF f#25] 52 52| 104| 24.0] 80.0
552fi1 |EEE FTFE 45| 42 87, 8.4 78.6 612fi |Gl —= 57 51| 108| 28.8] 79.2 672fi1 |EEE 8Kk 56 54| 110| 30.0] 80.0
553fi7 |FkFH Rt 57 54| 111| 32.4| 78.6 6131 8 Efh 45/ 45| 90 10.8] 79.2 673f1 |ZH Fi 43| 43 86| 6.0/ 80.0
55441 Al B 45| 48| 93| 14.4| 78.6 614f1 ¥ B’=x 56 52| 108| 28.8] 79.2 6744 |[#01L EF 49| 49| 98 18.0] 80.0
55541 |MIA IEA 53 52| 105| 26.4| 78.6 61547 WA Sid 47 49 96| 16.8| 79.2 6751 3R & 56 48| 104| 24.0| 80.0
556fi1 hE & 50 49 99| 20.4| 78.6 6161 188 2 53 49| 102| 22.8| 79.2 67641 [l FiE 54 43 97| 16.8| 80.2
5574 |EH X3 54 51| 105| 26.4| 78.6 6174 |KtE BEZ 50 52| 102| 22.8| 79.2 67741 [k EKEB 55 54| 109| 28.8| 80.2
558f |LUfZ & 50 49 99| 20.4| 78.6 618f [ R&/I 5 61 59| 120| 40.8| 79.2 6781 |[GH FX 50 53] 103] 22.8| 80.2
5591 |RIH 49 50 99| 20.4| 78.6 619 [/MII =18 58 44| 102| 22.8| 79.2 67941 |EE BIF 46 57| 103| 22.8| 80.2
5601 |BH &iE 50 55| 105| 26.4| 78.6 6201 M BiA 47 55| 102| 22.8| 79.2 6801 |@E FEX 51 52| 103| 22.8| 80.2
5611 |y BiT 46 47 93| 14.4| 78.6 62147 [ &= 49 53] 102| 22.8| 79.2 68111 |BEIR 8 51 52| 103| 22.8| 80.2
5621 |fRix F 59 52| 111] 32.4| 78.6 6221 [th&E HEX 45 44 89| 9.6| 79.4 68211 R BiT 48 49 97| 16.8| 80.2
5631 |HiE F— 45 48 93| 14.4| 78.6 62341 |HEEF $H 44 51 95| 15.6| 79.4 6831 |AH =& 53 56| 109| 28.8| 80.2
5644 [E A 56 43 99| 20.4| 78.6 6244 |TNE KK 57 56| 113] 33.6| 79.4 6844 |LLIA B 54 55| 109| 28.8| 80.2
5651 ¥R 1E7h 56 55| 111] 32.4| 78.6 6251 |HEH 18 55 52| 107| 27.6| 79.4 68511 ot EZA 57 58| 115| 34.8| 80.2
566fI |fHEF KB 51 54| 105| 26.4| 78.6 626117 |ANH 1Eif 51 56| 107| 27.6| 79.4 68647 |JIIlEF 73 53 56| 109| 28.8| 80.2
5674 =@ KR 53 58/ 111| 32.4| 78.6 62741 [BO #— 51 44 95| 15.6| 79.4 6871 [BA il 49 54| 103| 22.8| 80.2
5681 |AAT IT—EB 50 55| 105| 26.4| 78.6 6281 EiN FA 50 51| 101] 21.6| 79.4 6881 |HiE & 56 58| 114| 33.6| 80.4
5691 ey it 45 48 93| 14.4| 78.6 62947 [HP FREE 50 51| 101] 21.6| 79.4 68941 [XH =1t5] 52 44 96| 15.6| 80.4
57047 |B2I&F {0 47 52 99| 20.4| 78.6 6301z [/MII 1= 46 49 95| 15.6| 79.4 6901 |El % 48 48 96| 15.6| 80.4
57141 |B#E = 60 57| 117| 38.4| 78.6 6311 |TEA RF 55 58| 113] 33.6| 79.4 69147 |/ FEB 50 52| 102| 21.6| 80.4
572fi |&FE BA 55 55/ 110| 31.2| 78.8 6321 | AAK =S 51 49| 100| 20.4| 79.6 69241 |#E KL 56 52| 108| 27.6| 80.4
5731 &% IEA 43 43 86| 7.2| 78.8 63341 [/IMAIR T2 54 58| 112| 32.4| 79.6 6931 B EFE 56 58| 114| 33.6/ 80.4
57441 |potE JEE 53 51| 104| 25.2| 78.8 63441 1T 1B 43 45 88| 8.4| 79.6 69441 |gIH FIE 53 55| 108| 27.6| 80.4
57541 |=H J\FX 53 51| 104| 25.2| 78.8 63541 |[AJE EX 46 48 94| 14.4| 79.6 69541 [AIH A<z 53 49| 102] 21.6| 80.4
57641 |/I\H IEZ 49 49 98| 19.2| 78.8 6361 /i £1F 50 50| 100| 20.4| 79.6 69611 ey Hid 53 49| 102] 21.6| 80.4
5774 /N —— 47 45 92| 13.2| 78.8 63741 |BlF RE 48 58| 106| 26.4| 79.6 6971 |1kiE = 57 57| 114| 33.6| 80.4
57841 =% =HF 52 46 98| 19.2| 78.8 6384I | AN /A 46 48 94| 14.4| 79.6 69811 |AIH & 54 48| 102| 21.6| 80.4
5791 |[KH ¥ 51 59| 110| 31.2| 78.8 6391l |[&=H EE 49 51| 100| 20.4| 79.6 69947 |t % 58 56| 114| 33.6/ 80.4
580fi |RK&k 1EFB 54 50| 104| 25.2| 78.8 64041 =R L& 55 57| 112| 32.4| 79.6 7004 |#0H = 57 57| 114]| 33.6| 80.4| A=
58147 [IULEH —A 47 51 98| 19.2| 78.8 64141 2K K 47 53| 100| 20.4| 79.6 70141 |[=F —% 46 49 95| 14.4| 80.6
582fi |HH &ia 46| 46/ 92| 13.2| 78.8 64211 |2F E=S 58| 48| 106| 26.4| 79.6 7021 |Z=H it 52 55| 107| 26.4| 80.6
5831 Bt HEE 49 49 98| 19.2| 78.8 643f7 |FEfa ZIR 47 47 94| 14.4| 79.6 7031 |gEEh HE 49 58| 107| 26.4| 80.6
5844 |Ef FR— 46 52| 98] 19.2| 78.8 6444 |®FE 3k 46 54| 100| 20.4| 79.6 7044 |[REF XEZ 49 52| 101] 20.4| 80.6
585fi |[RIH RS 48| 44, 92| 13.2| 78.8 645 |‘FH EFB 53 53] 106| 26.4| 79.6 705{i |fnER TEE 60 53] 113] 32.4| 80.6
586fi |BEH #ciT 53 57| 110| 31.2| 78.8 64641 |ZEJF EX 46 48 94| 14.4| 79.6 706{i |J&E 1A% 60 65| 125| 44.4| 80.6
587 |k = 60 56| 116| 37.2| 78.8 6471 | ARAT BE 63 55| 118| 38.4| 79.6 707 |KiE AF 50 51| 101] 20.4| 80.6
588fi [I“AK Z#T— 52 51/ 103] 24.0| 79.0 64811 & & 48 58| 106| 26.4| 79.6 708fi 7B HE 54 53] 107| 26.4| 80.6
5891 [#nk BERE 48 49 97| 18.0| 79.0 649 | Rf AK 49 44 93| 13.2| 79.8 7091 |&XF FiE 51 56| 107| 26.4| 80.6
590fi |HE FE 62 53] 115] 36.0] 79.0 6501 |KEF X 45| 48] 93] 13.2] 79.8| AE 7101 |BIR B 51 50| 101] 20.4| 80.6
5914 |KlF 21— 47 50/ 97| 18.0] 79.0 65117 |HE fEF 52 53] 105| 25.2| 79.8 71147 |8y =8 51 50| 101] 20.4| 80.6
592fi |[AH FX 47 44 91| 12.0| 79.0 65217 |IL& BEfR 47 46 93| 13.2| 79.8 71241 821l BK=] 47 54| 101] 20.4| 80.6
59341 ED i 45 46 91| 12.0| 79.0 65341 |&Hh R 47 58| 105| 25.2| 79.8 71340 [#01 &= 50 51| 101] 20.4| 80.6
59441 |ivH B 49 54| 103| 24.0| 79.0 6541 |f1H BBF 47 52 99| 19.2| 79.8 7144 | BESK 49 46 95| 14.4| 80.6
595Mi [HE =i 51 52| 103] 24.0| 79.0 655 B == 45/ 48] 93| 13.2| 79.8 715fu Bk =4 48 52| 100| 19.2| 80.8
596fii | KT &= 50/ 47| 97| 18.0] 79.0 65611 | —AB 58| 47| 105| 25.2] 79.8 7164 (% B 44 50/ 94| 13.2| 80.8
59741 Tl ZEF 56 53| 109] 30.0| 79.0 65741 D B 58 53] 111] 31.2| 79.8 7174 88K 1E 45 55| 100| 19.2| 80.8
598fu [/MNRLIL BBk 50 59/ 109] 30.0| 79.0 658 |KW B 47, 40| 87| 7.2| 79.8 718fi |l FEFD 56| 62| 118 37.2] 80.8
599Mu [HIF BxE 55/ 48] 103| 24.0| 79.0 65911 |Fix 1EME 56| 49| 105| 25.2] 79.8 7194 |k HIX 48/ 46| 94| 13.2]| 80.8
6001 [Ei 58 52 51| 103] 24.0] 79.0/ AE 6601 |KiE =— 52 58| 110| 30.0/ 80.0 72047 [EE HicT 48 52| 100| 19.2| 80.8
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[[[=Xiva R EL ouT IN | GROSS| HDCP | NET [[Yiva iy EA ouT IN | GROSS| HDCP | NET |[[=Yiva Y EA ouT IN | GROSS | HDCP | NET
72141 B £ 50 50| 100] 19.2| 80.8 781f1 | KT IEA 40/ 49| 89, 7.2| 81.8 8411y HIF & 52| 49| 101] 18.0) 83.0
7221 |tk B 57| 49| 106 25.2| 80.8 7821 |=F {S1E 51 56/ 107| 25.2] 81.8 8421 |E1% &HT 57 50/ 107| 24.0] 83.0
72341 | T 53 53| 106] 25.2| 80.8 783f1 |5 5% 49| 46| 95 13.2| 81.8 843(i &8 Esh 50 57| 107| 24.0] 83.0
72441 |BBIR Rth 50 50| 100] 19.2| 80.8 784f1 &Il #HLi T 63 62| 125 43.2| 81.8 844fi1 | KtE 8= 54 53| 107| 24.0] 83.0
72501 |#nEF S¥— 53 53| 106] 25.2| 80.8 78511 |fHtt {RED 56 57| 113]| 31.2] 81.8 8451 [EEH EEBH 55 52| 107| 24.0] 83.0
7261 A KR 57| 49| 106 25.2| 80.8 786fi1 |[{E2K HHE 42 53 95| 13.2| 81.8 846fiI [<F&Z EME 53 54| 107| 24.0] 83.0
72741 |85 I 46| 60/ 106| 25.2] 80.8 787f1 & FA— 45 50, 95| 13.2] 81.8 847{i |&lF B4 54| 65| 119] 36.0| 83.0
72841 |RE N 55 56/ 111] 30.0) 81.0 788fi1 | KAR F=E 57 56/ 113]| 31.2] 81.8 848fi |[FEF KA 46 54| 100| 16.8] 83.2
72901 |FEXR = 58 53| 111] 30.0) 81.0 789f A3 BA 47| 48| 95 13.2| 81.8 849(i [EF FIE 54 58 112| 28.8] 83.2
7304z |/\EH —EB 57 54| 111] 30.0) 81.0 79061 |Tnlll B’— 61 52| 113]| 31.2] 81.8 8501 [RH HX 53 53] 106] 22.8] 83.2|AE
73141 /IVRIR ¥ 44| 49, 93| 12.0] 81.0 79161 Bk F 52 55/ 107| 25.2] 81.8 8511 |[fkEE RiE 54 58| 112| 28.8] 83.2
732f1 |EES & 49 50/ 99| 18.0) 81.0 79261 |[SH 5] 53 60| 113 31.2| 81.8 8521 [k &iE 57 54| 111| 27.6] 83.4
73341 |H FE— 50 55| 105] 24.0| 81.0 793f1 |MAX thT 61 58 119| 37.2] 81.8 853fi [IUAK HET 55 50/ 105| 21.6| 83.4
7344 |FiIlll BUs 48 51 99| 18.0/ 81.0 794f1 VR T2 53/ 47| 100] 18.0) 82.0 8544 |=F it 52 53| 105| 21.6] 83.4
7354 |AIH Y 55 50/ 105| 24.0| 81.0 7954 | RF 57 55| 112] 30.0| 82.0 8554 |/l ERsh 51 54| 105| 21.6| 83.4
7361 R EE 44 49 93] 12.0| 81.0 79611 |25 F—EB 60 64| 124| 42.0] 82.0 856fi |=H ES 60 45/ 105| 21.6| 83.4
73741 | FE R{E 50 43 93| 12.0| 81.0 7974 |#&EE8 BB 58 48| 106| 24.0| 82.0 857{i |[f] &L 67 56| 123| 39.6| 83.4
7384 [{EL2 A FIBB 53 52| 105] 24.0| 81.0 79841 |FEIR JES 52 66| 118 36.0] 82.0 858fi |milll FBHZ 53 58| 111| 27.6| 83.4
73941 [HF ZE 56 55/ 111] 30.0| 81.0 7991 |BXK BEF 60 52| 112| 30.0| 82.0 8591 |ARAKT — 50 55| 105| 21.6| 83.4
74001 I8 FA 45 48 93| 12.0| 81.0 80011, |Bafg (B3 58 54| 112] 30.0| 82.0| AE 860fi |[Edh MHE 56 67| 123| 39.6| 83.4
74141 |FAm 50 61| 111] 30.0/ 81.0 8011 |EX%¥ 1BF 54 58| 112| 30.0/ 82.0 861f1 |FH 12 58 53| 111| 27.6| 83.4
7424 |#5H SEF! 58 53] 111] 30.0| 81.0 8021 |ERE BX 48 52| 100| 18.0| 82.0 862fi |Fik A 60 51| 111]| 27.6| 83.4
7434 AR St 53 58/ 111] 30.0| 81.0 80317 |[i#=H EHfC 62 62| 124 42.0] 82.0 863fiL | KIF F5—EB 52 52| 104| 20.4| 83.6
74441 (R SLhTF 61 55| 116] 34.8| 81.2 80441 |HX & 47 53] 100| 18.0| 82.0 8644 |11 65 63| 128| 44.4| 83.6
74541 |BRE EE 54 56/ 110| 28.8| 81.2 805111 |EHE FBH 50 56| 106| 24.0| 82.0 865fi |FEH FE 55 49| 104| 20.4| 83.6
74641 1BH F— 59 57| 116| 34.8| 81.2 80611 |HA % 48 46 94| 12.0| 82.0 8667 |=F IE=FF 50 60| 110/ 26.4| 83.6
74740 | EA 3B 46 46 92| 10.8| 81.2 80741 &1L EHa] 54 46/ 100| 18.0] 82.0 8671 |ZEIL BE 54 50| 104| 20.4| 83.6
7481 |BEAK BYE 53 51| 104| 22.8| 81.2 8081l |&== [EEB 57 60| 117 34.8] 82.2 8681 & =& 58 52| 110| 26.4| 83.6
74941 |1k XN 56 48| 104| 22.8| 81.2 80917 [PuEB I5E 53 52| 105| 22.8| 82.2 8691 |&H 3 56 60| 116| 32.4| 83.6
7501 | KEE AF 53 57| 110] 28.8] 81.2| AE 8104z |I=H Ml 51 54| 105| 22.8| 82.2 870fI Bt 63 65| 128| 44.4| 83.6
7514 [HF JeiT 54 56| 110| 28.8| 81.2 8114l |&E 1% 58 59| 117| 34.8| 82.2 8714 | &H EA 64 58| 122| 38.4| 83.6
7521 BBy EH 51 53] 104| 22.8| 81.2 8121 |HfE &HA 48 57| 105| 22.8| 82.2 8721 [EfE BE 53 57| 110| 26.4| 83.6
7534 |BElR F5H| 51 53] 104| 22.8| 81.2 813 |F#= I1EiT 56 49| 105| 22.8| 82.2 873fu | BF 58 57| 115| 31.2| 83.8
75441 |WH EET 59 57| 116| 34.8| 81.2 8144 |Hit BE 55 62| 117| 34.8| 82.2 8744 | KX1& =& 57 64| 121| 37.2| 83.8
75541 | KJIl 5B 50 48 98| 16.8| 81.2 81541 |k JiEnh 56 55| 111] 28.8| 82.2 8754 |=F JRsh 56 53| 109| 25.2| 83.8
75641 =% 4t—EB 52 52| 104| 22.8| 81.2 81641 |=47 #F 55 55| 110| 27.6| 82.4 876fi |HBA EHR 65 56| 121| 37.2| 83.8
75741 [#RF = 51 59| 110| 28.8| 81.2 81741 | KEy X 49 49 98| 15.6| 82.4 8774 |BHA PEE 55 53| 108| 24.0| 84.0
758{i |AlFE mHAEl 54 43 97| 15.6| 81.4 81841 |HEEF $H 49 49 98| 15.6| 82.4 8781 |IULA HE 51 57| 108| 24.0| 84.0
75941 |{C®l FE 62 53] 115| 33.6| 81.4 81947 [IUH FHrx 50 54| 104| 21.6| 82.4 8791 [#&FE == 62 64| 126| 42.0] 84.0
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